Calcula los siguientes limites: Soluciones

. Bt —3x2—Tr+2 19
1. lim —
r—+1 Trt —4r — 3 3

5. i TE XA SGEHE 451
T— T rT—T 51

3. lim (V322 +5— /322 — 22 + 8) V3
T—r 00

ki
12—51+1)“’
T =5 =

4. Calcula n sabiendo que lim ( 5
E—ro0 T — 3

5 m 1n(smm.+1}
r—01n(1 —sinx)

e — z2 + arctanz — 1

6. I
::inﬂ 2T+ a3 —2

2

3
VZZ 12— 6z 19 4,/51
P T—7 51

B i V22 +1—+/12z + 1 6v/73
R T—6 73

2 I—l
< — B 1 i
o Eu (ﬁ) e

T—o0 2

2_g
—_ 522 — 8z +12\"
"z 0eo\ 622 fz—1

grs — 5 2
11. lm vz~ —or+2 -1
T—o0 —3r+1

=]




